
 

Midwest Industries, Inc.   Ida Grove, IA 51445         800-859-3028    www.shorestation.com                    0004663 
 

Page 1 of 5 4-15-20  

Swivel Dock Chair DA0124 
 

Introduction  

The updated version of the ShoreStation’s popular Swivel Dock Chair now features Trex® composite seat and back 

material and is available in brown and gray tones. 

 

 
 

The assembly process explained in this document should be performed by a qualified ShoreStation technician who 

understands the proper techniques and applications of the equipment used during the assembly process 

 

  

http://www.shorestation.com/


 

Midwest Industries, Inc.   Ida Grove, IA 51445         800-859-3028    www.shorestation.com                    0004663 
 

Page 2 of 5 4-15-20  

 

Safety Definitions 

Safety messages are presented throughout this document and labels affixed to the product. The messages alert you to 

potential hazards to you and/or property. The signal words DANGER, WARNING, and CAUTION are preceded by an alert 

symbol  and communicate the severity of potential hazard. The severity of each type of message is defined as 

follows: 

• DANGER indicates a hazardous situation which, if not avoided, will result in death or serious injury. 

• WARNING indicates a hazardous situation which, if not avoided, could result in death or serious injury. 

• CAUTION, used with the safety alert symbol, indicates a hazardous situation which, if not avoided, could result in minor or moderate 
injury. 

Safety Instructions  

 WARNING  

• Remove any metallic objects from your person before working with DC or AC electrical components.  

• Disconnect power from the lift and turn the key switch (if available) to the OFF position before working on the lift.  

• Assembly and installation of this system may require working over water. Always wear a personal floatation device (PFD) when working 
over the water 

• Always wear proper personal protective equipment such as safety glasses, gloves, hardhats, and clothing.  

• Never work alone and observe safe lifting practices such as team lifting and proper lifting posture.  

• Do NOT modify the equipment unless you have received direct written approval from the manufacturer (ShoreStation®). 

 

Tools Required: 

Cordless Power Drill 
SAE Socket & Wrenches 
  

  

 WARNING 

DO NOT ATTEMPT TO ASSEMBLE THIS PRODUCT WITHOUT FIRST STUDYING THIS MANUAL AND 
INFORMATION ON LABELS INCLUDED WITH THE SYSTEM. FAILURE TO DO SO CAN LEAD TO IMPROPER 
OPERATION RESULTING IN SERIOUS PERSONAL INJURY AND/OR PRODUCT DAMAGE. IF YOU HAVE 
FURTHER QUESTIONS AFTER REVIEWING THIS INFORMATION, CONTACT A SHORESTATION 
REPRESENTATIVE AT (800) 859-3028. 

http://www.shorestation.com/


 

Midwest Industries, Inc.   Ida Grove, IA 51445         800-859-3028    www.shorestation.com                    0004663 
 

Page 3 of 5 4-15-20  

Assembly Instructions  

1 – Organize Parts 
Open the hardware box and bag(s), and sort the hardware. 

2 – Connect Chair to Base 
Use the 1/4-20 x 3/4 carriage bolts and 1/4 kep nuts to bolt the upper base weldment to the swivel chair.  

  

3 – Add the Arms 
Align the holes of the chair’s arms with the holes in the seat of the chair. Insert the 3/8-16 x 1-1/2 carriage bolts and 

tighten the 3/8 flange locknuts (as shown below). 

  

http://www.shorestation.com/


 

Midwest Industries, Inc.   Ida Grove, IA 51445         800-859-3028    www.shorestation.com                    0004663 
 

Page 4 of 5 4-15-20  

6 – Attach Foot Ring to Lower Base 
Put the square tube of the lower base weldment through the center of the foot ring, align the holes, and insert two  

3/8-16 x 4 bolts through the holes. Add 3/8 lock washers and nuts and tighten.   

 

6 – Add Dock Accessory Mount 
Attach the dock accessory mount to the lower base weldment using 3/8-16 x 1-1/4 carriage bolts, flat washers, and 3/8 

locknuts (as shown below).  

 

http://www.shorestation.com/


 

Midwest Industries, Inc.   Ida Grove, IA 51445         800-859-3028    www.shorestation.com                    0004663 
 

Page 5 of 5 4-15-20  

4 – Connect Chair to Lower Base 
Insert the lower frame weldment tube into the upper frame weldment tube, align the holes, and put a 3/8-16 x 4 bolt 

through the holes. Tighten a 3/8 flange locknut on the bolt. 

 
 

 

 

 

 

 

 

http://www.shorestation.com/

